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int x=5;
float y=2;
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int x;

char name|6];

int arr[7];
int *p;
scanf(“%d”,&name) - scanf(“%d”,&arr) -
scanf(“%d”,&x) - scanf(“%d”,&p) -¢
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int x=5;
if(x>3)
if(x<2)
X++;
else x--;
else x-=2;
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int a=2,b="5;

b-=((a>5)ll(b<=5))?a+b:a-b;
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int i=1;
int x=5;
while(++i<=5) x++;
printf(“%d”,x);
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int m=5;
int x=5
switch(m)
{case 1:x++;
case 5:x+=2;
case 3 :x+=3;
case 4:x+=5; break;
default: x++;

}
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int x=1,j=1;
for(int i=1;i1<9;1+=2)
while(G<7){j+=3; x++;}
printf(“%d”,x);
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int x=5;
for(int 1=1;1<10;1++)
for(int j=1;j<10;j++)
{continue;
X++;}
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int func(int x)

{
if(x mod 2 ==0) return 1;
else return 2;

}

main(){
int y=5;
printf(“%d”,func(y)); }
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Int func(int x,int y)
{if (y==0) return x;
Else return(func(y, x % y);}
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Int a[2][3]={{5.12},{3,2}};
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main(){
intx,y=0;
inta[5]={1,2,3,4,5};
for (x=0;x<5;x++)

y+=a[x];
printf(“%d”,y);
}
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for(int i=0;i<4;i++)

for(int j=i141;j<4;++j)

a[i][jl=0;
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Int *p;
P=&x;
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void change(int *y,int x){
*y=5;
x=0;}
int main(){
int a=7,b=8;
change(&b,a);
printf(“%d%d”,a,b); }
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void func(int *x,int *c)
{*x=5;  *c=T:}
main(){
int c[5]; inty;
func(A,B);
printf(“%d%d”,y,c[0]);}

A=&c B=&y -o A=&y B=&c -4
A=&c B=y -4 A=c B=&y -¢
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void func(int m,int *a)
{for (int i=0,k=0;i<m;k++,1++)

{t=*(a+1);
*(at+1)= *(a+k);
*atk)=t;}}
main(){int b[5]={13,15,17,16,14};
func(5,b);}
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void func( int a[],int n){int 1,j ,temp;
for (i=1;i<n;++i)
for (k=0;k<n-i;k++)
if (a[k]<a[k+1]) swap(a[k],a[k+1];}
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struct date{int month; int year; int day;};

struct stu
{int id; struct date birthday;} arr[10];

arr[4].birthday.day=21; -o arr[4].day=21; -
stu.birthday.day=21; -4 arr.birthday.day[4]=21; -¢
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union un{
int 1;
char c;
}s;
main()
{union un *p;
s.c="A’;
p=&s;
printf(“%d%c%d%c”,s.1,s.c,p->1,p->C);
}
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Struct stu
{int id; float grad[10];} arr[10];

k=0;
For (int i=0;i1<10;i++)
Sum=arr[k].grad[i]+sum;
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fseek(fp,7L,1) - fseek(fp,21L,1)-an
fseek(fp,7L,0) -a fseek(fp,21L,0) -
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